
SCHAFFERT MFG. CO., INC.  	 308-364-2607 or 800-382-2607

71495 rd. 397 ∙ indianola, ne 69034 ∙ 308-364-2607 or 800-382-2607 ∙ fax: 308-364-2410 ∙ sales@schaffert.com ∙ www.schaffert.com ∙ 3 May 2019

Before working on your planter or drill
DANGER: When storing or working on the planter always install cylinder stops or place the planter on stands to prevent personal injury or damage to the attachments.
PLEASE: Read instructions completely and verify all package contents before beginning installation.

Chicken Tracker Package Contents
(per single side)

Item	 Quantity
Bushing  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Bushing w/ weld on washer .  .  .  .  .  .  .  .  .  . 1
5/8″ ID x 3/4″ OD x 1″ wide
Connex bushing .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 2
Chicken Tracker wheel .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
8-1/2″ x 5/8″ bolt .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
5/8″ nut .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1
Instruction Sheet  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  . 1

CHICKEN TRACKER™ MOUNTING INSTRUCTIONS
Buffalo 4630 & 4640 Cultivator

1. Take standard rubber wheel off. Don’t use the 3/4″ bolt.

2. Hub of Chicken Tracker wheel is not welded in the center of wheel. Put wash-
ered spacer on side of hub that is tapered.

3. Pound in both Connex bushings into bracket holes so that the 5/8″ bolt 
provided will fit.

4. Then put non washered bushing  on opposite side of wheel so Chicken 
Tracker is centered. Push through wheel bracket.

5. Hold in place with 5/8″ lock nut.

6. Make sure wheel is centered in cultivator yoke

7. Tighten nut on bolt

Lock Nut Spacer Bushing Spacer Connex Bushing w/ Washer Push Connex bushings into 3/4″ bolt holes

Washered bushing

Tapered side of hub.

Connex Bushing Bolt


